1995-0013669

=

=

o
1995-0013669

1995H06& 15

=

=

=

=P

S

)
(43) THLYR

(11) 3

£1994-0028475

1994 1101

Int. CI.
E2AUX

o
e

B28D 1/14
(22) =

(51)

RIEEES) @ﬂﬂma H Ul
Ros o R0 KTy Ol g
3 3@ S =Ho A =
HWE™ DA G ©R0 KM g
UERE i =t =g
mk = _= M
7 T © 3 H0'S 2o o O 815
Ml - 80 _|_.N_4 I._.}.A el
s W M ) =
o =W53 W =0 R0 Ol
3l Sz Kljgp Juio R0
2 8l oy 0 gl
ZhSa WU 01 5 =ur
| = F 53l =2 <
2 ool & W5 s RO™© o
W WS o < o7 Ol gy 5% 5 R
S S XA S Wsu3 g
. <2 S - 0SB O |
K] = wod®o I Draol e
= S S RIS o HIr 16
., —_ _.c=_05 - - [ -
or _.c P S A= — 00
&k Wl UT™ o = o SZ e ol =
e < gy v FEW_3 =
ol | AL W0~ 7K i) SERS < =
T — R = S ¥ s~ o=
ol = T, W oo C = e o0 ©
ol T K W= T, W= L= ol RN
al i i = = 2 10 7 —
- W & 2 o ol R g o
o m .ﬂw.r_oo(\ Te) oo DBl M
mwH 3 B0 g 4 o1 ) i Ko 55 om ;o1 S
gx oo = WA DS oom Y oz 70 ©
Q@ =z 0w W~ - < al SFs B KIr o
= .= o N o e SZ 6—1IF —
T 50 3 B0 e H ol 0l =Sz W
» S o E_ _.._oll,_l __._Dlud ) x._o Ro .A__OE|H ol 3=
J— — — K. () o_a - 3
~O %5 4 =gy o = U~ Kq o Ar M
© m_. A_n O._ 20 . WJIE yL||_ i0J all o] m4”_un_\4):m\_ D_.l
8% @ Bw Bl ) ul U 5 RM o1
S W 1o ol W 15 0 w Ul pd KTy 52
Se oK WS S = S WS S
R 2 = 0| 12 =
<~ N = o<+ <
RO O s o > Tr<me )
oD w By = n
) s w =W = gy @ R
- og Y ot was S Lo UIR o5 ) o0 8
P ay Ul R = B s S - 80
wa R o 0l SR oo m AU g o SETME o E
™ o O. * ~ - - [ — — I3 = .= =
@ B @ o X o = I U T o Ao HE 5¢©
g Ll it Ul ol - TETROBOM ©
o TR TR S [ RO MO Br o — _ — R0 R0 2 31 - o o —
R0 H= = Ol or Jb 040 " Fo rs= ., 3 "
—_~— o~ =~ A Hrd s W X 00 - w0 e = W SO 0
ST 8§ ¥ Y vra =z oy o~ =¥ zFUY I onauwsy? o Qoo
2 = =oae o g o o W Z S S i LA b
O KIBIBo 3 W 0 = X - B K il < R0 KIZFolOloTdl R O EHral RO

| 0.2LHKI 0.5

9

t=E(3, 4)2 20I(TH)

2-1



1995-0013669

=

=

o

=

=

H

n
[=)

Bl o
Ul \A»../9
0 <
o REAEN
< i =
R il Br
) 3 80
o0 m=
H R~
_Im ____m
g o
KO ._Nom_o
) z) <0
0y W
0l o_%v
o A
R Rr -
Wa___ |m
\mnu/C_ m__o
3 ol .
— 00 - -
<= =My 2
ROz RouU "
B ) a1 0 o __rm
<6 ME._M =
- .ol%r
MWI_ X o0y, i
S5 SKozs B
oM____ﬁ o3 - e}
— _ S of
S SHol
ool Wwr 2
ioJ o) 0 U 00
W_% Ion —
70 Ol &
Ki0 350 _%._M:__ b
00 100 RO = 2
=0 =
) < N
< W% 0 W&:u __L% T
0 CE S0 H
T+ %a + Ymol o w T
R =T R O=oidr ox W

2-2



